
ASSEMBLY INSTRUCTION

ALEXI DINING TABLE

221265

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small
parts which may have come loose inside the carton during shipment. Identify and count all parts and

compare with the parts list below.

PAGE 1MADE IN VIETNAM

HARDWARE LIST

A

B

C

D   M4

  SPRING WASHER

  FLAT WASHER

  BOLT M8 x 60 16

16

16

1

  1

  2

  2

  3

  4
  4

ALEXI DINING TABLE / 
TABLE ALEXI

  /
 

HARDWARE LIST / LISTE DE  LA QUINCAILLERIE

BOLT
BOULON

FLAT WASHER

RONDELLE PLATE

SPRING WASHER

RONDELLE D'ARRÊT

ALLEN KEY
CLÉ ALLEN



PAGE 2

1

2

  %
  &

  $
  '

  2

  2

  1

  %
  &

  $
  '

  �

MADE IN VIETNAM



PAGE 3

3   '

  '

  $

  $
  &
  %

  &
  %

  4

  4

4

ADJUST LEVER

FOR BALANCE

MADE IN VIETNAM

ADJUSTABLE LEVELER / 
PATTE AJUSTABLE



PAGE 4FINISHED
ASSEMBLED / ASSEMBLÉ 



ASSEMBLY INSTRUCTION

ALEXI DINING BENCH

223182

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small
parts which may have come loose inside the carton during shipment. Identify and count all parts and

compare with the parts list below.

PAGE 1MADE IN VIETNAM

HARDWARE LIST

A

  M4

  BOLT M8 x 50 14

14

14

1

B

C

D

  1

  2
  4

  3

  2  4

  SPRING WASHER

Ø8x2 mm

  FLAT WASHER

Ø19/Ø8x2 mm

  BOLT M8 x 40 2

E

HARDWARE LIST / LISTE DE  LA QUINCAILLERIE

BOLT
BOULON

BOLT
BOULON

SPRING WASHER
RONDELLE D'ARRÊT

FLAT WASHER
RONDELLE PLATE
ALLEN KEY
CLÉ ALLEN

ALEXI DINING BENCH / 
BANC ALEXI

  /
 



PAGE 2MADE IN VIETNAM

1

  1

  2

  $
  (

  &  '

2

  $
  (

  &  '

  �



PAGE 3MADE IN VIETNAM

  E

  A

  C
  D

  B

  C
  D

  E

  4

  4

  A
  D

  C
  E

  2

�

  A
  E

  C  D

4



PAGE 4FINISHED

ADJUST LEVER

FOR BALANCE

4

6

ADJUSTABLE 
LEVELER / 

PATTE AJUSTABLE

ASSEMBLED / ASSEMBLÉ 



ASSEMBLY INSTRUCTION

MIKA DINING SIDEBOARD

221372

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small

parts which may have come loose inside the carton during shipment. Identify and count all parts and

compare with the parts list below.

PAGE 1MADE IN VIETNAM

HARDWARE LIST

A

  SPRING WASHER

Ø8x2 mm

  FLAT WASHER

Ø19/Ø8x2 mm

  BOLT M8 x 45 mm2

10

10

B

C

D

  M4 1E

  BOLT M8 x 35 mm8

  1

  2

  2
  3

ALEXI SIDEBOARD/ 
BUFFET ALEXI

  /
 

HARDWARE LIST / LISTE DE  LA QUINCAILLERIE

BOLT
BOULON

FLAT WASHER
RONDELLE PLATE
SPRING WASHER
RONDELLE D'ARRÊT
ALLEN KEY
CLÉ ALLEN

BOLT
BOULON



PAGE 2MADE IN VIETNAM

1

2

  (
  $

  '  &

  �

  2

  2

  &
  '

  (   %

  1



PAGE 3FINISHED

3

ADJUST LEVER

FOR BALANCE

ADJUSTABLE LEVELER / 
PATTE AJUSTABLE

ASSEMBLED / ASSEMBLÉ 


	AI ALEXI DINING TABLE(21-12).pdf
	AI ALEXI DINING BENCH(21-12).pdf
	AI MIKA SIDE BOARD (21-12).pdf

